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¥a: un AZLLUU: _
109.5+ 1072 = 267.6 x 1004 =
1001 = 1002 =
107 = 339.1+ 1077 =
814.2 + 100% = 3% 100D =
1002 = 6x 102 =
3x10= 1009 =
1 x 1072 = 5% 1002 =
1070 = 1003 =
6x 100" = 707.1+ 1072 =
1079 = 1 x10=
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¥da: un AYLUY:
109.5 + 10 = 10950 267.6 x 107 = 0.02676
1077 = 0.1 1072 = 0.01
107 = 0.001 339.1 + 1072 = 33910
814.2 + 107 = 8142000 —3x 107" =-03
1072 = 0.01 6 x 10% = 600
3% 10 = 30 107 = 0.0001
1 x 1072 =0.01 5% 107 =0.05
1077 = 0.1 107 = 0.001
6x 107" = 0.6 707.1 = 1072 = 70710
107 = 0.001 ~1x10=-10
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